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38298 (JKIER) JUIE % KI5 KEK (2F) ENEY ENETY T
3H298 (JKIER) L ZEFIKIGKEK ENEY ENETE T
3H23H (KEH) L ZEHIKIZKEK Tt T TigH
38228 (JkiER) JUIE % KB KEK (2F) ENEY T N Tl
3822H OKER) B F10E2 /K5 7K E K Tt T TigH
3B 158 (JKiER) JUIE % KIS KEK (2F%) ENEYe T N3]
38158 OKER) L ZEFKIFZKEK T T Tt
3A8H (JKiER) JUIE % KIS KEK (2F%) ENEY T N Tl
3A8H (JKiER) L2 IKIGKEK ENEYe T N3]
3A7H (XER) B 1082 K15 KB K ENEY T N Tl
3A7H (XHER) B RAR 2K B KE K ENEY T N Tl
3A7H (XER) HIR# KB KEK ENEYe T N3]
3A7H (XER) A Hh X K & 7K SE K ENEYe T N Tl
3A7H (XHER) =48 b X 7K 3E 7K SE K ENEY T N Tl
3H1H OKEH) JoiE A KIS KEK 2R) N dan] TR Tt
3A1H (JKiER) L2 F KIS KEK N3] T N3]
2H228 (JKiER) JTIE % IKIGKEK (2% ) N3] T N3]
2H228 (JKiER) L2 F KIS KEK N3] T N3]
2H228 (JKiER) B 1082 KI5 /KB K N3] T N3]
2R 158 (JKiER) JTIE % IKIGKEK (2% ) N3] T N3]
2B 158 (JKiER) L2 F KIS KEK N3] T N3]
2R 148 (KBER) B 1082 KI5 /KB K N3] T N3]
2B 148 (KBER) ERIR KB KEK N3] T N3]
2B 148 (KBER) HIR%KIZKEK N3] T N3]
2B 148 (KBER) A X K & 7K SE K N3] T N3]
2B 148 (KBER) =48 b X 7K & 7K SE K N3] T N3]
2A8H (JKiER) JTIE % KI5 KEK (2% ) N3] TR N3]
2A8H (JKiER) L 2% KIS KEK N3] TR TR
2A1H (KiER) JTIE % IKIBKEK (2% ) N3] TR TR
2A1H (KIER) L 2% KIS KEK N3] TR N3]
1H258 (JKEER) JoiE KB KEK (2%) Tt T Tt
1A258 GKEEH) L 2% KIS KEK N3] TR TR
1H258 GKEEH) BB 1082 /K15 /KB K N3] TR N3]
1H 188 (JKEER) JoiE KB KEK (2%) Tt T Tt
1A18H JKEEH) L 2% KIS KEK N3] TR TR
1H118 (KEER) JoiE KB KEK (2%) Tt T Tt
1A11H GKEEH) L 2% KIS KEK N3] TR N3]
18118 (kKEER) BB 1082 /K15 /KB K T T T
1A11H OKEEH) ERIR KIS KE K N3] TR TR
1A11H OKEEH) IR KI5 K&K TR TR TR
1118 (KEER) A Hh X 7K E K& 7K Tt T T
1A118 (kKEER) =4 i X 7K B K X8 K Tt T T
1H48 OKIEH) JTIE % KI5 KEK (2% ) TR TR TR
1H48 OKIEH) L 2% KIS KEK TR TR TR




12H28H (JkKiER) TTTE R IKIBKEK (2%) TR TR TR
12H30H (£EH) + 5 KIZKEK N Tl TR TR
128218 (JkKiER) TTTE R IKIBKEK (2%) TR TR TR
128218 (JkKiER) 5 KIZKEK N Tl TR TR
128218 (kKiER) ¥ B 1082 K15 KE K N Tl TR TR
12H 148 (kKIER) TTTE R IKIBKEK (2%) TR TR TR
12H 148 (kKEER) + 5 KIZKEK N Tl TR TR
12878 (kKEEH) TTTE R IKIBKEK (2%) TR TR TR
12878 (JkKEEH) L+ ZE 5 KIZKEK N Tl TR TR
12868 (CKEEH) ¥ B 5 108C K15 7K 8 K N Tl T N Tl
12868 CKEEH) BRI % KIS KE K N T T N T
12868 (CKEEH) R KIS KEK N T T N T
12868 (KEEH) A Hh X K & K& 7K N Tl T N Tl
12868 (KEEH) =8 Hh X 7K 8 7K & 7K N Tl T N T
11 H308 (kKiER) ToTE R IKIBIKEK (2%) N Tl T N T
11 H308 (kKiER) &5 IKIFKEK N Tl T N T
11H228 (KER) ToTE R IKIBKEK (2%) N T T N T
11H228 (KER) + &5 KIFKEK N T T N T
11H228 (KER) ¥ BB 5 108C K15 7K 8 K N Tl T N Tl
11H16H (kKiER) ToTE R IKIBKE K (2%) N Tl T N T
11H16H (kKiER) + &5 KIFKEK N Tl T N T
11898 (KEEH) ToTE R IKIBIKEK (2%) N Tl N Tl Tt
11898 (KEEH) L ZERKIFZKEK N Tl T Tt
11H8H (NIEH) BB % 108C K15 7K 8 K N3] T Tt
11H8H (NIEH) B RIB % KI5 KE K N3] N Tl Tt
11H8H (NIEH) HIRFKIZKEK N3] T Tt
11H8H (NIEH) T A Hh X K 8 K& 7K N3] T Tt
11H8H (NIEH) =8 Hh X 7K 18 7K & 7K N3] N Tl Tt
11828 (KEEH) ToTE R IKIBKEK (2%) N3] T Tt
11828 (kKEEH) L ZERKIFZKEK N3] T Tt
10H 268 (kKEER) ToTE R IKIBKEK (2%) N3] N Tl Tt
108268 (JKEER) L ZERKIFZKEK T T Tt
108198 (kKEER) ToTE R IKIBKEK (2%) N3] T Tt
108198 (kKEER) L ZERKIFZKEK Tt T Tt
108198 (kKEER) B % 108C K15 7K 8 K Tt T T
108128 (kKEER) ToTE R IKIBKE K (2%) Tt T Tt
108128 (kKEER) L ZERKIFZKEK Tt T Tt
108128 (kKEER) B % 108C K15 7K 8 K Tt T T
108128 (kKEER) E{RR % KIS KB K Tt T Tt
108128 (kKEER) HIRFKIZKEK Tt T Tt
108128 (kKEER) A Hh X K 8 K & 7K Tt T T
108128 (kKEER) B8 Hh X 7K 18 7K & 7K Tt T Tt
10H5H (JKEEH) JTiE KIS /KEK (2R) Tt T Tt
10858 (KEEH) L ZERKIFZKEK Tt T T
9828H (KER) JTiE KIS /KEK (2R) Tt T Tt
9F28H UKEH) L ZRKIZKEK Tt T Tt
98 21H OKEH) ToiE R IKIBKE K (2%) Tt T Tt
9F21H OKEH) L2 RKIZKEK Tt T Tt
98218 UKER) ¥ B % 108C K15 7K 8 K T T T
98148 OKEH) ToiE R IKIBKE K (2%) Tt T Tt
98148 OKEH) L ZRKIZKEK Tt T Tt
98 7H OKER) ToiE KB KEK (2%) Tt T Tt
9F78 (UKEEH) L2 RKIZKEK Tt T Tt
9H6H (KIEEH) ¥ B % 1082 K15 7K 8 K Tt T Tt
9H6H (KIEEH) ERIB &K IEKEK Tt T Tt
9H6H (KIEEH) HIRFKIZKEK Tt T Tt
9H6H (KIEEH) T A Hh X K & K& 7K Tt T Tt
9H6H (KEEH) =8 Hh X 7K 18 7K & 7K Tt T T
8H31H (UKIEH) TTiE KB KB K (2F) Tt T T
8H31H (UKIEH) L2 RKIZKEK Tt T T
8H248 (UKEH) TTiE KB KB K (2F) Tt T T
8H248 (UKEH) L2 HKIFZKEK Tt T T
8H248 (UKEH) ¥ B % 1082 K15 7K 8 K Tt T T




88178 (UKIER) TTTE R IKIBKEK (2%) TR R TR
88178 (UKIER) + 5 KIZKEK N Tl R TR
88108 (JKIER) TTTE R IKIBKEK (2%) TR R TR
88108 (JKIER) 5 KIZKEK N Tl R TR
8H38 UKKER) TTTE R IKIBKEK (2% ) TR R TR
8A38 UKKER) 5 KIZKEK N Tl R TR
8H2H (KIEH) ¥ B 5 108C K15 7K 8 K N Tl R TR
8H2H (KIEH) B RR % Ki5KEK N Tl R TR
8H2H (KIEH) R KIS KEK N Tl R TR
8H2H (KIEH) T A Hh X K 8 K & 7K N Tl T T
8H2H (KIEEH) =8 Hh X 7K 18 7K & 7K N T T T
78278 OK#ER) ToTE R IKIBKEK (2%) ENEY T N T
78278 (OK#ER) + 5 KIZKEK N Tl T T
78208 (KEER) ToTE R IKIBKE K (2%) ENEY T N T
78208 (UKEER) + 5 KIFKEK N Tl T T
7H198 (XER) ¥ B 5 108C K15 7K 8 K N Tl T T
78138 (OK#ER) ToTE R IKIBKEK (2%) ENEY T N T
78138 (OK#ER) + &5 KIFKEK N T T T
78128 (KIER) ¥ BB 5 108C K15 7K 8 K N Tl T T
78128 (KIER) ERIRE KIS KE K N Tl T T
78128 (KIER) R KIS KEK N Tl T T
7R128 (XFER) A Hh X K 8 K & 7K N Tl N Tl N Tl
7R128 (XFER) =8 Hh X 7K 8 7K & 7K N Tl T N3]
7H68 (UKIER) ToTE R IKIBKEK (2%) N3] T N Tl
7H6H (JKEEH) L 25 KIZKEK T T T
68298 (UKFER) ToTE R IKIBKEK (2%) N3] T N Tl
68298 (KFER) 25 KIZKEK N3] T N Tl
68228 (KIER) ToTE R IKIBIKEK (2%) N3] N Tl N3]
68228 (KIER) + 25 KIFKEK N3] T N Tl
68228 OKEH) ¥ B 1082 K5 K E K Tt T Tt
68158 (KFER) ToTE R IKIBKEK (2%) N3] N Tl N3]
68158 (JKFER) + 25 KIFKEK N3] T N Tl
68148 (XFEH) ¥ B 1082 K5 K E K Tt T Tt
6F 148 (XFER) B RIR % KIS K E K N3] T N3]
6F 148 (XFER) R KIS KEK N3] T N3]
6F 148 (XFER) A Hh X K 8 K E 7K N3] T N3]
6F 148 (XFER) S8 Hh X 7K 18 7K 8 7K N3] T N3]
6F8H (kKiEH) ToTE R IKIBKE K (2%) N3] T N3]
6H8H (kKiEH) 25 KIFKEK N3] T N3]
6818 (kKiEH) ToTE R IKIBKE K (2%) N3] T N3]
6818 (kKiEH) 25 IKIFKEK N3] T N3]
58278 (£ERH) JTiE KIS /KEK (2R) N dan] T Tt
5H278 (£ER) 25 IKIFKEK N3] T N3]
58258 (JKFER) B % 108C K15 7K 8 K N3] T N3]
5818H (KiER) JTiE KIS /KEK (2R) N dan] T Tt
58188 (JKFER) 25 KIZKEK N3] TR N3]
58118 (JKIER) ToiE R IKIBKE K (2%) N3] TR TR
58118 (KIER) 25 KIFKEK N3] TR TR
58108 CkFEH) ¥ B % 108C K15 7K 8 K Tt T Tt
58108 (XFER) ERIB & KIS KEK N3] TR TR
58108 (XFER) HR % KI5 KEK N3] TR N3]
58108 (XFER) T A Hh X K & K& 7K N3] TR TR
58108 (XFER) =8 Hh X 7K 18 7K & 7K N3] TR TR
5H6H (£EH) ToiE R IKIBKE K (2F) N3] TR TR
5H6H (£EH) 25 KIZKEK N3] TR TR
4F278 (KIER) ToiE R IKIBKE K (2%) N3] TR TR
4F278 (KIER) 25 KIZKEK N3] TR TR
4F278 (KIER) ¥ B % 108C K15 7K 8 K TR TR TR
4F208 (JKIER) TTiE KB KB K (2F) TR TR TR
4F208 (JKIER) 25 KIGKEK TR TR TR
48138 (KIER) TTiE KB KB K (2F) TR TR TR
48138 (KIER) 25 KIGKEK TR TR TR
48128 (KFER) ¥ B % 1082 K15 7K 8 K Tt T T




48128 CKER) BRI KIS KEK TR TRt s
48128 CKER) iR %7K 15 K8 7K TR TRt s
48128 CKER) o A X JKE 7K E K TR TRt s
48128 CKER) = A8 b X 7K 38 7K & 7K TR TRt TR
4A68 OKEEH) T FKEKEK (2FR) - dan TRt s
4A68 OKEEH) £ %5 KIGKE K TR TRt s
4A18 (£EH) TLIEFKEKEK (1R) - dan TRt s
4A18 (£EH) T FKEKEK (2FR) - dan TRt s
4A18 (£EH) £ &5 KIGKE K TR TRt s




